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BOTANY
( Generic Elective )

Paper : GE-3

Full Marks : 53
Pass Marks : 21

Time. : 3 hours

The figures in the margin indicate Jull marks
Jor the questions
Paper : GE-3 (A)
( Plant Anatomy and Embryology )

1. (o) oo fml Rees wm Ot ffg a1 : 1x3=3
Choose the correct answer of the
following :

() S M1 3% <R TRy Tz 5 /
N [/ coifoizee |

The tissue responsible for
secondary growth in plant is
cortex / cambium / pericycle.
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(2)

(ii)%%wmmwmmﬁ«m
SR [ RGN / @)

The epidermis of plant body is
developed from dermatogen /
periblem / plerome.

(iti) TS BfeTe WIZEW el / IgTeN / Tes!
N AR AT

In hydrophytic plant, .xylem /[
aerenchyma / pith is poorly
developed.

(b) A 3Z &I T
Fill in the blanks :

() Fa-fraeTe sive @ @ S
@Y oo |
After double-fertilization, zygote and

___ cell are formed.
(i) *RIEY M9 @ dfEe QI |

The process of development of
pollen grains is called __ .

2. oY Gt forar

Write short notes on :

(@) 5% Sfor fSwmes
Adaptation of xerophyte
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(b) YIS /SRS
'Apomixis

(c) TSN RTALR ARUPTR

Advantages of cross-pollination

3. °EE T A 57 S W I SR o
TR AR BRI T4 2+8=10
What is meristematic tissue? Classify and
describe the meristematic tissue according
to its position and function.

</ Or
Y Gt forar 5x2=10
Write short notes on :
(a) SIZEW I
Xylem tissue
(b) e Bfeme “femma aoR
Types of stomata in dicots

4, mﬁmﬁs?mcﬁﬂqﬁwmﬁmwwm
HITAGAT 1Y | 2+10=12
What is cambium? Discuss the function of
cambium in secondary growth of plant.
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(4)

_ 9yqr / Or
oY Gt for 4x3=12

Write short notes on :

(a) @
Annual rings

(b) AR Ry

Casparian strip

(c) “RANIT R

Microsporogenesis

. Wm%: R2 R oeore oo SR
::;ﬁmm U P S Wifst 3 |
W ST 54 | 2+6+6=14

What is pollinaﬁ
. on? ¢ imat :
important phenomenop, Pollination is an

fowering plant” Juggs, ‘e tcie of

ss the contrivanceg of Self-pollination:
SR/ or
5 Gl fora :

. =14
Write short noteg on - 7x2=1

1. (@) oo frt Rees W O ffa o -

( 8

Paper : GE-3 (B)

( Economic Botany and Plant Biotechnology )

Choose the correct answer of the
following :

(i) . @ 9. Reofafir orafer s
79 e PR/ RS / oF el |

The discoverer of DNA finger-
printing is Alec Jeffreys / Robertis /
Paul Berg.

(i) RoEF /| WYEEE [ @RI
Q&' eraee S @ Bk IR
79 A

Ligase / Hydrolase- / Restriction
endonuclease is used as molecular
scissor.

(iii) o3 Seoifesm T vlw-siffon aftmt /
R [/ S|

The centre of origin of wheat is
South-West Asia /'America / Africa. .

1x3=3
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(b) & i °[9 Fq : 1x2=2
Fill in the blanks :
(i) o] @& AT T |

The scientific name of tea is

(ii) 9SG TA |
The edible part of rice is .

2. ™ Gt forat - 4x3=12
Write short notes on :

(@ =3, 9. B .
RAPD

(b) . B. 9.
PCR

(c) SR @3, g%, B
RLFP

TN 1 TR Put R BT B 2410210

What do you mean by Vavilov’

ha ou me: S centre of
oqgn? Write briefly different centres gf
origin of cultivated crops with examples
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w231 / Or
oY Gt fordt ¢ . 6x2=12

Write short notes on :

@ f5. @ «a. feeafafse
DNA fingerprinting

(b) ToRee agfeRmm awm

Application of biotechnology in medicine

. TR Beoime o Wi IR B P 6+6=12

Give a brief account of production process
and uses of cotton.

o< / Or
5y GOt forar 6x2=12
Write short notes on :
(@) FRE [ Fbres Seone eiferat

Production process of mustard oil from
mustard seeds

(b) THNTE F

Endos;;erm culture

| R fewm R0 A wfswgR aifErn & 62

aers PR e s &R ST R

Ry SER w9 2+4+6=12
What is genetic engineering? What are the
tools of genetic engineering? Also mention
the application of genetic engineering in crop
improvements. :

24P/302 ( Turn Over )




( 8)

w931 / Or
5y G ot

Write short notes on :

(@) < BRee

Molecular diagnosis

(b) ﬁﬁnw

Genetic counselling

* % &
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